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1
,,2.{q,, u'tlc 6.250 L250 7.50

2. ,,zqq,, u4rc 7.334 1.466 8.80

e ,,2.{s,, U'lC 4.084 0.816 4.90

4. ,,2.{9,; U'lC 3,333 0,667 4,0

,,zqq,, uac 3.333 0.667 4.0

o. ,,2.{Q;, U'tC 8.333 1.667 10,0

,,2.{q,, UAC 30.166 6.034 36.20

,,2.{q,, U'tlQ 3.s0 0.70 4.20

o ,,zqs,, u'lc qn 1.0 6.0

10. ,,2.{q,, U'tlQ 6,916 1.384 8.30

11 ,,zqq,, u'rc 4,0 0.80 4.80

12. ,,zqq,, u,tc 8.333 7.667 10.0

13 ,,2.{s,, U4IC 13.333 2.667 16.0

14. ,,e.{c,, U'DQ 17.50 3.50 27.0



,,2.{S,, U4IC 10.0 2.0 t2.o

to. ,,2.{q,, U.lC 9.L67 1-.833 L1.0

1''II ,,lqs,, u4lc 15.0 3.0 18,0

18. ,,eqq,, u,tc 5.0 1.0 6.0

19. ,,zqs,, u'rc 12.50 2.50 15.0

zu. ,,2.{s,, U4lC 9.167 1.833 11.0

21 ,,2.{s,, UqlQ 9.767 1.833 11.0

22. ,,2.{q,, U'tlC 6.750 1.350 8.10

23. ,,zqq,, u'ttc 24.750 4.950 29.70

24, ,,aqs,, u4lc . 2.167 0.433 2.60

25. ,,zqq,, u'tc 4.766 0.834 5.0

zo. ,,zqq,, u4lc 18.333 3.567 22.0

27. ,,zqq,, uaQ t9.167 3.833 23.0

28. ,,U.IS,, U'tlC 8.7s0 1.750 10.50

zY. ,,|.iS,, U.tlC 12.666 2.534 75.20

?n ,,2.{s,, UnC L2.50 2.50 15.0

31. ,,zqq,, u'tlc 6.250 1.250 7.s0

32. ,,e.{S,, U,lC 4.667 0.933 s.50

,,2'{q,, U'lC 3.333 0.667 4.0

7.A ,,2.{S,, UqlQ 2.767 0.433 2.60

35. ,,2.{s,, U4IC 3.333 0.667 4.0

36. ,,2-{q,, U'tlC 5.50 1.10 6.60

37. ,,zqq,, uac 7.50 1.50 9.0

5.'Ilurururuluurtlutnm uunpurpurdurtnlurtr \"rlrfhg pfurlmtnlrub npn2mr.ihhpp
5.l.Opn2nul /pfnll/ 'tlururruufuruliururnl urnnlurpru-duillftuh lh\urtlurpp npn2hg ,2.{q,, U.tIC-h \n{.fhg

bhp\urpugrlurb hrulurp qtrurhururtl punlrupurp;
5.2' Opn2nui /pl!z/ ,,Zqq,,U'llC-frtr durhru2hl gtnnpriurb riuruhurllfrg, npqhu pl-rpurgur\urpqfr qurSrlurtrtrhplrtr

hrutfurulurururufuruh hurlur h h{urqruqntltr qtnul}rtr runur2urp\ trhp\urlugprub rftuutrur\}rg h qtp2lrLfru hhur
\bp\qurlfurhurqfrp;

5'3. flpn2nul /pln{3/ 'tlurtntuufurutrunnnt uurnpurpurdtutrmttp npn2hg huruurunnhl ptrurprlurb riuruhur\g}r hh'r
qurldtuhurqlrp \hphlm npn2rfurtr riurufrtr hurjururpurpmplurrr urhputng;

Lluu{rlr Lhpllur ru\rutftrhp}r urbnr-trtrhpp hwqqtlJllrrt'ulrrffi 
^f 

,)

'Ilruurruuluurlnurnnt uurnpurpurdurrnlrutr qhllu{urp' A ry'4---- g. $pfrqnplurtr

I

il
9bnutLtplr hrurfiull:rpqnrl --2. Zn{hrutrtr}ru1uh


